~_Name: _ Class: Date:

Geometry B Practice Final Exam

Multiple Choice
Identify the choice that best completes the statement or answers the question.

I. You install fencmg around your ]arge trlangular
garden. Then, you divide it into four small
triangular gardens by connecting the midpoints of
each side of the triangle with fencing. How many
feet of fencing de you need?

3.7” Find the sum of the méasﬁfeé of the interiof angles
of the given figure.

ID: A

S= 130 (n-2)

742

c 23x3= 69 $ =130(7-2)
___.__KH Kb* and 5 \jq 21X £3 = 135( E)
Hb- are «ll 7 3y \x Hx‘z S'f? | = 400"
m:Jsc:jﬂa%A% 135]
a. 1620°
2 b, 1260°
a. 195ft . A . h c. 1080°
189 ft r’HJ + [ Pcfi”"{' s~ 00°
CI?ZSth of RARC +LH KHG: @ %0
d 126 ft 4. The sum of the measures of the interior angles of a
3. Listthe sides of AABC fr o] t polygon i? 13160‘:’. Classify the polygon by the
. List the sides o om shortest to longest. number of sides.
— a.u decagon S =130 (n- D‘)
> . : b. 11- ~ - Y .
) 3o e Mae - pn 1260 180 ; n-2)
- 60 ) 1 “DMjcr nonagon  jEOQ Q
the cfﬂog,/[-e 5. Find the value of x. '7 - rl- ;\
61 8 » (
¢ Sz 1Z0(%-2)
o AC.CB.1AB LT3 is the smallit = 130(6)
b. EBA__BZ_E anjleI f—br‘c.f&fc < = 08O
DAE R is the shortot N -
side. h ew1sy 10x+T43=1080
c. about69.7 nyy —43
@>about 33.7
= (1o jox = 337
A 038 —_— =
+ 5 i 26 0 10
jox 1732 -0
1 [ 16 ¥ = 3
131



Name: an ST i€ & rltws-fs-«.& D:A

te
6. Find the value of x. SNLF‘! 51L Fhe * ,ibr-u the v'e/“’H‘C*’-S

angles elweys = 6o s |20
. R - 90
10=%+ 210 = 360 - (6

- '“?.I‘D
iOx= 150

o (o
- IS a. mZl=132°, ms2 = 24°, ms3 =24°,
15 K= mL4 = 24°
= b. ML =24°, ms2 =78, mL3 =T8°, mL4 =T8°
o s mL1=90°, ms2 = 24°, mL3 = 24°, mL =240
i 3 @) mZ1 = 90°, mL2 = 24°, mL3 = 66°, mL4 = 24°

7. For what values of x and y is quadrilateral ABCD a 9. Find the length of the midsegment of the trapezoid.

parallelogram? TE ARCD i% « Fﬁfﬁfk/ogm* A 6 B
thew tle opposite $idey are =
D T €
AN = §+46

a. x=27,y=2 : } >
é x=T,y=27
Sdx=T7,y=2 & A
d x=59,y=67 MA = f""' = 26

Ix-3326x-26  Sx+12 =%y +40
+33 32 s(Mp :‘f7+‘fo |
M= byt >S5 +13 =l tlo

~bx —b 13 =ty 140
() - %D
e ’r> »2—;?2
2
A =N

The ézc\,gwmis are L sad b?‘;t'd
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10. A scenic overlook which extends over a ravine is

shaped like a kite. o ‘
. 560 jua a Kite
LX =7
L0
. =io%
70
18
w
Find m/X. P
a. 70° —=q]
b. 182° ~
& or
d. 108°
11. Inthe diagram, AZI4A ~ AKYC. Find the value of
X.
i ¥
21 27
35 45
K * ¢
z B 4
a 7
h. 11
& 13 [ .
d 25 s 25

12.

13.

14

a@®o e

GD 444 feet

L D
40 acs,—fs) 2x +18
0 e S ria'
% TgmYe

A rectangular vard is fenced?n(using 33 feet of
custom fence. Your friends really like the fence and
dacide to fence in their yard using the same fence.

Their yard is similar but has a scale factor of g

times the size of yours, how much fence, to the
nearest foot, will they have to purchase?

b, about3dafeet L (333)= Y4y
c. about477 feet 3

d. about 250 feet

QRST ~ WXYZ. The area of WXYZ is given. Find
the area of ORST.

W Z
0 T E: l’
o+
R 15 5 X 30
A =480 sq in. )
a. 32in’
b. 465 in.? _|_
240 in.? 4 30( q) = |20

@) 120 in.”
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15. What is the length of AF?

a. 17
& 16
c. 14
d 24

16. Walkers in a park have different benches where
they can stop and rest. How far is it between bench
“A” and bench “B?

/s

A rd
7% 135
‘ 0,
B

2. > 250 feet
b. 315 feet
c
d

430 &1 243 f
[]
/c
2&,_11?
2feet Y5O T AY3R
207 feet
243x = 60,750
pUSS 245

1ID: A
17. Find the value of x.
42 ._?i- P —-‘&
Alww“”‘“%m e, 15 s
Y5 ., f/ ? Y= & 50
gD %\\ { y “""_-
-5 0 /\s\f >5 3%
, a. 30 :
| - _
' c. 17.3
d 22

18. In the diagram, 48 =12, Find AC and BC. Write

your answers in simplest form.

1272=6

a. AC=4,BC=8

@ AC=6~/3,BC=6

C. AC=8§,BC=4
d AC=6,BC=6~3
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19. A chemistry teacher makes a sign for the door to

the room that contains the chemt 8.
he-demger sign is shaped like afj equilateral
tnangle Hstimate the area of the 1 carest

4 square inch.

AN -
h=18 L=9J2

about 140.3 in.2 .].
about 280.6 in.* A= 1‘0“

about54.0in° A = %Ugf‘hfi)

about 70.1 in.*
=140.73
20. In the diagram, AC =x, BC =x, and AB = 12/2.
Find the value of x. Write your answer in simplest

b.
c
d

form. —
§inéc Al = 8C) tbces
LA LE- KL
i Av
G0
f0-2=Y5

ID: A
21. Find the value of x.
12
M
- >
XS HIYY~ =T
4. x=2365 - T
&S x=13 1€9 ~=
c. x=~/119 — j—“
e T m A
13 =X
22,

i;go /2 = ’éy

¢c. y=96

d y=83 144 = 167
le j¢
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24, Find the value of x.

14 7(1.‘.1111‘- i? 2

a  x x4+ 196 = ggcf
- | : b. x=93 - 4§ ~19¢6

e AL T2 AD <Al Céc? i=«/§3- ' x*= 93

: = ~f 485 ?—-—
a w=2J7 W2= r’ <,l) K= 95
: 25. An adventure company wants to run a zip line from
b, w=211 3 |7 I? the top of one building that is 130 feet tall to the
c. w= \/ﬁ W o= top of another building that is 30 feet tall. The two
_ 5 buildings are 72 feet apart. Estimate the length {in
@ w= ﬁ S:’l - ‘) q feet) ofgthe zip line. Rgund your answer to the
—- 5 nearest tenth.,
W = f) ? a. about 172.0ft ioo
: @ about 1232 ft
¢. about69.4ft ?0
d. about 100.0 ft '

]2

26. A caris traveling along a road that makes a 10° angle with the ground. Find the elevation (x} of the caron a
stretch of road that extends horizontally 86 meters. Round your answer to the nearest tenth.

25 127100 = K
£189 + 10,000 =% *

1S18% ==
PP S
Nutdmwmtoscﬁa]s
(6.0 about 152 m e aboutsssm  TFaz JO T 76
b. about487.7m d. about1326m
27.2£W—0.79 € ruse caladatpr %86 tanlD = x
Q) about 52.2° c. about 0.014°
b. about 40.7° ée’f’r“ rode d. about37.8° ]5. =X

W= sin ¢.79)
W= £2.2° 6




28.

. Name: _ m:A

In an obstacle course, participants climb to the top of a tower and use a zip line to travel across a mud pit. The zip
line extends from the top of a tower to a point on the ground 48.2 feet away from the base of the tower. The angle
of elevation of the zip line is 33°. What is the length (x) of the zip line? Round your answer (o the nearest tenth of

a foot, P
| | COS 37 "fﬂ

29.

30.

or sin 5= £~
f sl v
4 3
Ces 53"' €= gqvg
, , } ot drawn to scale L Cészz :q%‘,)\_
a. about 74.2 ft c. about88.5 ft _ 48X
b. about 313 fi @ about57.5ft K= s
tan 106° _ 31, In the diagram, VW =3, WX=4,and VX=8.1s
a. about1.5706 * LS Calen ’ c‘}_‘sf WX tangent to () V7
b. about15614 ., deqpee smcde
& 2bout -3.4874 W i
d.  about-1.0592 X
. - -5 A
Find the area of the triangle. Round your answer to :
the nearest tenth, <
Law o% (osines. $K:p. ~ .3 o
349 =

A ( Yno :élf
es 4—16
. s 4y

* 32, Inthe diagram, point K is a pomt of tangency,
MK =720, and MN = 648. What is the radius of

OJ?

a. about 503.0 units?
b. about 234.6 units? ' 2
. about 258.8 units? . “T ~
Sl. Zbgﬁt 555.0 units? g@ ;g K + I'?)D - (7( 4—6 \(?>
© Tt 784002 x 12 96x+
R - 419 Y4
‘f?‘i%_ J296x 1,
1246 ~ /294 1%, %00 = 290+ 919,504
7 =419, tov 414, 96'%

NE =«
GEHU = | 96
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33. Inthe diagram, MN is tangent to (DK at M, NP is
tangent to (DK at P, MN = 128, and NP = 2x + 70.
Find the value of x.

1 35. In the diagram, mZJ = 39.5°. Find mﬁ{\ .
g, 5 x 2= A

| 80
- 19
' ] 01

(D mik = 101°

(;D;:;g A #7021 x=29| | = .o
. x=-9 70 ~fc e mIK = 140.5° o
i x=38 Ax = S8 d  mJK = 50.5°

— < "
34, Inthe diagram, NQ is a diameter of R, ‘
m = (6x +33)°, and m:"\‘;}-’\ =(5+ 10x){. Find

Y g
N = NP

M
Ex +33= 5 +10x
N y R Q _é;x _67L
3% =5 +Yx
P -5 —%
m‘-ﬂ}FZISOD -
b, mMP =75° 3‘_8_"2
c. m‘E=92° L’v tf
d.  mMP=223° N = x
6x+33 N
6(7)+33 S
Y4a 333 N 3
ng 9
P
ns
1 ~\
]S5O0 = m qu’

36. Inthe diagram, m/SUR = 32°, Find mR? and
mZSTR. 32,(2 = glf

g r=>7

A f—

. )mRS =64°, msSTR = 32°
b. mRS =64° msSTR = 128°
¢. mRS =32°, m/STR = 64°

—
d. mRS =148°, m/STR =74°

37. Inthe diagram, mZQRP = 5x°. Find the value of x

B> Qrfe L )
p e LORF = TO
\» 2 .
) = 90
o/ su= 10
Vgl S
@ - % = 18
c. x=72
d x=12




Name: B B ID: A .
38. Inthe diagram, line m is tangent to the circle and 41. In the diagram, KN =4, JN =20, LN =10, and
m/ABD = 79°. Find mdB. MN = x. Find ML,
l") ({ M
‘ #
3 K
1% 1O jox="4 { 20)
Fil
L IOy = ?_?__
p— ML =18 Tl
(5/ mAB=158° ML g 0 &
b. mAB=79° o - ML=80—— e = 2
¢. mAB=101° d ML=24 AL=B 0= 2‘8
d mAB=316° o 83 42. In the diagram, KN =x — 1, JN =x +20,
39, CJ'D 10.8 = C’z) LN=x+11,and MN = x + 2. Find the value of x.
B I~ =
2]l = x~&3
x° ""?3 + €3
[ OF=x M -
5 G -xt 7
o - | J3x+23= 19=-20
= 104 adx=7 -3 -—I;c
h. x=93.5 b x— 42 x
c. x=725 e 1=6 AN = bx-28
d x=166 d x=95 +20 F2Te
40. 43. Find the value of x} YA = 6éx
. i s -
x=135 -— 2 Py
=75 (DYHO= % . £ U
c. x=27 x= 3 5 ? ; -6\?
d x=775 - b, x=1. -
- ?c-.us-x o g g6 = = o
-t -lS d x=133 -é"f
(1) =35 = == () 3y~ &x
? ?

35 =X
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44. In the diagram, RP = 18, PO =x + 16, RS = x + 14,

ID: A

46. Write the standard equation of the circle shown

awtwme of x. below. C-ehf)"” : (;) , 1)
b g FEL 34)= (¢ +14) - r=
e AE 18 (xt (2x +24) ; > A
RIS - 5 7 .. :11_) ¥ - E-¥ 3
> 1846/ =24 5hoxt [ 5 SRy
‘}‘}6 O ey, 4 T o 'i
_ (X ]
x’“o?? T 0= Rx 434x- 276 (x-¢ V4G - st
x_=6 O = % #+1x~13% N . -
b X7 0 2 (xa2Ux=6) | T LT T e )k Gy #) A
d x=10 Y2320 x-€=0 (c+2)7+(p+1)" =25
~ =6 )

~x Z-A3

&
. RS ~50.0

c. RS=692
d RS=1.1

4 5 "z % (x#+10)

AORS == Y 0x
O = %440 ~2028
. -b2 \)91-‘4ac

~¥ pnd
=X a
-Yot Jyo -4 LN (-2028)
x = 2
2401
w= ~4ot U jged+ BlO0
2
= ~YorJat9e _58.5
= <L P ey
x =z 04985 K= D425

A

_ . , h K
47. The point (-9, —7) is on a circle with center (8, 4).
Write the standard equation of the circle.

a. (x—8)2+(y—4) =410 Se @
b (+8)7+(y+4) =410 At
fase

o (=47 +(y-8)" =410
d. (x=8)"+(y-4)" =410
48. The equation of a circle is

x4y =100 — 6y -+ 25 = 0. Find the center and the
radius of the circle. Then graph the circle.

a. center: (5, 3), radius: 3

T

See
ﬂ&x?l‘
pege

—

L4
1 X




).

The distance from (3)4) o (-1,-7)

s Hhe radius of Fhe crrele.

R =
2+ 23§ ="
4jo =t
~EB =
~q =r

(k) 4 (k) =
(=- 2)+ Cy*"l)i:' 110

“43.

e ————

Jx‘t'_'.ymz.. [6x - 67 2 = S

Cyi"“‘/(b&‘i’ (71-67) = 9* 5
=25 +25+

(50" (-3 "= 1

Conte (5,3?) |
r=—23 “’\rﬁ_':-S

10
a

N
KA
Ky
t
¢
W

i
-

(xtu 207{-&15—)
(—1- SWH~-5)
B

C)rl-*éy-fﬁ)
(\/«3 Yy~ 3)

L= T
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b. center: (—5,—3), radius: 3

ID: A

50. The diameter of (DO is 14 centimeters. Find the

T» arc length of PR. = '7
& N m PR R ﬁ - ajﬁ ( ?)
_ i i . - ';Lﬁ\r_ : _ 3$‘g_ A
L ] 3 60 3\/0
., 2yw
, 5 36D
R
yaqé6n
c. -- center: (3,5), radivs:-6- - R 3¢0
JF.V .
Yb.0%
Vg a. about 476.00 cm
]/ b. about 14824 ¢cm
| . & about4.15cm
d. about 831 cm
: ¥ 51. Find msLMN,
J
d. center: (5, 3), radius: 6
4 N
.
€ > 7 143 em
N
X .2 (S)
B i {1
) J49. 3 = %60
about 791°
49, The circumference of a circle is 34 centimeters. E about 5° N - ﬁ-‘ # ’ O ?T\
Find the radius of this circle. o about loge e 2 T 360
a. abont213.63 cm ) bout 164¢ el ) b
éh) about 10.82 cm aoou C?OF;T) [0
D about 5.41 cm : - 2X pIAv
d. about 106.81 cm [360) 4SS T e (>¢9)
C=ANr
— 16%. 1= x
Y= Apr

(~7) 7

S. Y= r

11




52. Two tdentical gears with a 8 centimeter radius are
to be connected by a chain. The distance between
the centers of the two gears is 44 centimeters. What
length of chain is required to wrap around both
gears and form a complete loop?

ID: A

/56. Wallpaper is to be applied to the wall surrounding

a Norman window (a shape made by placing a G.ree
semicircle on top of a rectangle). How many square

feet of wallpaper are required to cover the wall
surrounding the window?

a. about113.13¢cm

b. about 104.00 cm QK*"—F /
c. ‘about [38.27 cm

d. about94.27 cm

53. Convert 186° to radians.

31
@ —BOErad 36 i ?’r
T f T
b, ——rad 3
60 —
317 { ?6 il
c. ]—Srad i?o
d. 31z rad sy

54. Calculate the area of a circle with a diameter o

10.8 centimeters.

a.
b.
c.

&> about 91.61 cm? A = T ( g,l-i')
55. Find the areaof O Y. A= 6"[[6] cre t

about 135.72 cm?
about 67.86 cm?
about 366.44 cm?

X

85.5 m? — ‘
Awyr* Ses T
o, 1 ~
85,33-:;?5'11!’1
g5 5z 10T
' 3€0

r=-s.4

A=Tr"

x

a. about 131.00 ft*
b, about 96.24 fi*

@ about 111.76 ft’

d. about 147.52 ft*

g o URY T )
560 0 o’ A=3 Ai dy
5.5= .02 ¥
@ about 263,08 m’ L e # 20 m” A :Ji () 10)
b. about 2375.83 m’ 7.0%  [.0% o L ( )
c. about 826.48 m? " - 4o
d. about 1547.65 m’ 83.3=r /:l' *
. Q.= r A= 2O
=7
o Y

A= (415} 12

S B3

Hz263.¢
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58. Youneed to create a hole 11.7 inches deep fora

post that is in the shape of a cylinder with a radius

of 7.2 inches. You will be using a drill bit that

rotates around a vertical axis, positioned such that

the axis ig attached to the side of a rotating

_ polygon, What characteristics should the drill bit

have to create the desired shape?

a. right triangle with vertical height 7.2 inches
and a horizontal base 11.7 inches

b. right triangle with vertical height 11.7 inches
and a horizontal base 3.6 inches

c. rectangle with vertical height 7.2 inches and

~ horizontal width 11.7 inches .

@ rectangle with vertical height 11.7 inches and

horizontal width 7.2 inches

Find the volume of the prism.

59.
13cm
a. 211.25cem’
b. 31cm?
c. 845cm’

D> 4225 cm?
R 3 bh V= (Gh

Find the volume of the cylinder.

60.

b.
c.

[K=7rr
R=17(%
& is

L(338)  v=(32.5)03)
R= 35 V= 922.5 3

13

about 134.77 cm®

‘about 269.55 ¢m®
about 1482.52 ¢cm’

about 741.26 cm®

gz 3k
,;) Y=~ 95 o3 (2.8)

o3 V=

41,22 Cr-s}
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61. Cylinder X and Cylinder Y are similar. The volume

of Cylinder Y is 89 cm’. Find the volume of
Cylinder X.

Cylinder X

v=29

Cylinder Y

a. 45cm’

> 712 em’

c. 178 cm’
d. 356cm’

62.

a. 225cm’
b. I5cm’

c) 75cm’

d 1125cm’

v =% (252(%)

V,—__ "7§'cr-3

63. Find the volume of the composite solid.

112 in.

: 6480 in.>
260> \J = It
d 1728 in.] v,_._._]z(/’c)C/Z)
V= i72%
Wyf@hfl
=202 V:—Ji’y ;Wzi
=ive  y=d gy@E) T 52
2160

v =32




Name: _ AD: A
= Aytr
Find the surface area of the cone. C }:
66. 1$7-= 2ar
T XA :
S=iir+ed 9.5=
-y _ ! 197 cm ’
SR FIT (322 -
A S=U7+ 8497
¢ = 2% 440
$="20.9% ._ <=Yir®
. o _ il | _ el
$=4rd->7
a. about 283.53 cm’ -
- 0.2%)
) b about 113411 cm? O = 141 (1
é azout ;(6)3436 e c. about359136cm’ S = JEI
about 70.49 cm 5
d. about 4536.46 cm”
c. about 140.99 cm’ o - S—= 113 LL “
d. about 150.8 cm” 67. Find the radius of the sphere.
c 2
Find the surface area of the sphere. S-145nem
65.
S =Yt
a. about2.86 cm
b. abour3.63em Y. & 14
. re———
4 about 196 cm? ¢. about 1.21 cm G—: ‘i o
b. about 1436.76 cm’ @about 1.9 em (‘I‘ u )
c._ about 179.59 cm’
) about 615.75 cm’ 3.625 — s
S = iy
. (% 1.9 =~
s=9mn
& = Yr§v )
¢ = g4

Sz 615-%
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68. A snowball has a radius of 7 centimeters. What is
the volume?

1D:

----------- ) v=tw@

vzt (343)
.‘ ,777\{"‘:,. _l_‘b?l A

< T
V= He7.33 7
a. about538.78 cm’
(B> about 143676 cm’® V= 1936.9

c. . about 615.75 cm®
d. about 196 cm®

Maultiple Response
Identify one or more choices that best complete the statement or answer the guestion.

69. What is the area of the shaded region formed by £4BC?

_ 2.3
Af*‘%réc* €0

—

= 13.7]

a. 81.7cm’ (2 18.79 cm?
b. 26.3c¢m’ d. 223 cm”

16

N
A

Ar -
ratscc{'w' eV

(&)

— 23 7 (26.02)

T

A

“JrT
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_ Name:

Numeric Response

72, 2 +72)= §ntY
'l'n-‘z /ﬂ’i”” =T ~Ta
Hin k6 s M =Hatd
1+ -
én +1 . L =Y §
, =Y
4n + 6 g ?_"_O —
—~ y Y
A.5) B.4 C.16 D.17 S =A
_ 73, Determine whether ARST or ALMN is similar to
NABC.
C 15 A
i3
16
B
40
r rext
32.5 g9
s

A ALMN ~ AABC

ARST ~ AABC )
C. Both triangles are similar to AABC

D.

Neither triangle is similar to AABC

17

74. A 4-foot tall girl stands 6.5 feet from a lamp post at
night. Her shadow from the light is 2.5 feet long.
How tall is the lamp post?

B.152 ft @.4 ft

See 7lext Fase

Find the volume of the cylinder.

A 1781t
13.7 ft

D.

75.




> AT

AABZC < ARST

A ARCHARST

NAARCY ALmd

LA 3%
AB ~ 16
._/_lj_ﬁ"_-};?‘_‘?__fz,s’

b

(3¢ I3
AARC \)\A L AV




74.
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76. Determine whether the triangles are similar, If they
are, write a similarity statement. Explain your

reasoning.
G0
- Li T
¥
@es, ADCU ~ ARFP.
B. No, the triangles are not similar,
Problem
77. CD _ 78. SR () 32

G 22 H

A4 B2 &N D12
A2 @0.4 D. 20
cp=2 ¢
2(RS$)= R
D = L (2
| | 2L 348D = L#+70Y
('0 = ' éd'/-]é ":,27({-1"{
~x ~ A
Y16 =AY
~le /¢

18 iivy[ _:g

ID: A

Y4
~ =2




